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QUESTION ONE

Write a Java program that implements a static list of integers. Include the following
operations: void append(int). void delete(int). void display(). boolean iskmpty() and
int count() which returns the number of elements in the list.

[20]
QUESTION TWO
a) What is the difference between a Binary Search Tree and an AVL tree. 4]

b) Show the instance variables and interface for a node that belongs to a Binary
Search tree.

[4]
¢) Show the instance variables and interface for a node that befongs to an AVL Tree.
(4]

d) Demonstrate how an AVL tree grows if the following sequence is nserted into an
empty tree.
90. 1. 78. 3. 8. 4. 65. 43.32.2.90. 76

{8]

QUESTION THREE

Write a program that implements a static circular queue arrangement. include
methods that implement the following operations in your program: enqueue. dequeue.
display. isEmpty and one that returns the number of items in the queue.

120]




" QUESTION FOUR
T
a) What %.é“(]{ci'purp‘mé of hashing?

[4]
b) Explain lincar probing and quadratic probing. . [4]
¢) Write code to implement insertion into a hash table using the linear probing and
quadratic probling. [8]
d) Which of these approaches is more efficient. and how is this efficiency measured?
[41

QUESTION FIVE

Write a program that implements a static stack ofintegers, Include the following
operations: void push(int). int pop(). int top() and int stackSize().
[20]

QUESTION SIX

Write a program that implements a dynamic binary search tree of integer data items.
Include the follow ing operations: insert. preorder. inorder. postorder. and search.
[20]

QUESTION SEVEN

Write a java method that accepts as a parameter a reference to a dynamic linked list of
integers. which returns a reference (o a dynamic linked list of integers. The returned
list should contain keys in the reverse order to those in the original list,

[20]

END OF QUESTION PAPER
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